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Questão 01  
a) [0,5 ponto] 
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b) [1,5 ponto] 
E = P 
E = ρVjangg 

Logo, temos  
E = 2700 N. 

 
c) [2,0 ponto] 
E = P + Pextra = ρáguaVdesl g = 4000 
 
104Vdesl = 4x103;     Vdesl = 0,4 m3. 
 
0,4 = h x 1,5 x 2;    h = 0,13 m ou seja,  fração da jangada submersa = 0,43. 
 
Questão 02 
a) [1,5 ponto] 
Pinterna = Pêmbolo + Patmosférica;  Pêmbolo = mg/A; Pêmbolo = 1000 N/m2. 
 
 b) [1,0 ponto] 
Pinterna V = nRT;    n ≈ 40,6 moles 
 
c) [1,5 ponto] 
Pêmbolo = mtotal g/A; Pêmbolo = 2000 N.  
 
Pinterna

nova Vnova = Pinterna V; HnovaA = (Pinterna/ Pinterna
nova)H A; 

 
Hnova  ≈ 0,99 m. 
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